H & 0l & AHS B Ml A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2

OlsE=1 173,247,747 185,593,494 N12,345,747
= 92,566,646
[ 1,771,669
Jl 247,871
< 46,532,459
Al 32,129,102

OroIot =gt SXAMEIA MBS 170,570,199 182,533,845 A11,963,646
= 92,506,646
s 1,100,840
Il 247,871
= 46,314,964
Al 30,339,878

OlS=XIAIE XI& 5,867,725 15,829,088 29,961,363
= 1,161,588
s 616,026
s 1,532,589
Al 2,557,522

StssSH 28l X 111,228 105,900 5,328
& 55,614
Al 55,614

307 lztol & 111,228 105,900 5,328
== 55,614
Al 55,614

05 2IMRIE =3 11,228 105,900 5,328

Ostu=sH 18] X3

111,228,000& 111,228
= 55,614
Al 55,614

stussH JIEtEEH XA 48,000 48,000 0
< 24,000
Al 24,000

307 212+01& 48,000 48,000 0
< 24,000
Al 24,000

05 2ItRIE = 48,000 48,000 0

OstsSH JIEt2gdl X2

48,000,000& 48,000
= 24,000
Al 24,000

CHitNEsSdE £Xdl X 75,000 205,000 130,000
[ 37,500
= 18,750
Al 18,750




SN OlSESD
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 75,000 205,000 130,000
= 37,500
== 18,750
Al 18,750
01 Al&HI 75,000 205,000 A130,000
OUENS=HE SXH X2
75,000,000 75,000
= 37,500
== 18,750
Al 18,750
CIetSsSHE JIXHHEl XI& 30,000 70,000 240,000
s 30,000
402 2I2F X201 & 30,000 70,000 /40,000
[ 30,000
02 QI A2 AL EE(0IETHE) 30,000 70,000 240,000
OUENSSHH JIXHIHHl K&
30,000,000 30,000
[ 30,000
CletNssdl 21248 X 872,252 869,800 2,452
= 436,126
[ 218,063
Al 218,063
307 glztol & 872,252 869,800 2,452
s 436,126
== 218,063
Al 218,063
05 2IR”tRIE = 872,252 869,800 2,452
OtgNEsHE bl X
872,252,000 872,252
s 436,126
s 218,063
Al 218,063
CHEENESsSHE lAd] =0t X 225,322 105,257 120,065
S 60,443
Al 164,879
307 glztol & 225,322 105,257 120,065
= 60,443
Al 164,879
05 2I2tRIE =S 225,322 105,257 120,065
OUEgNEsHE bl =0t X3
201,478,000 201,478
=S 60,443
Al 141,035




A OtsEsH
2 01010t =8t SAIMEIA HS
=2l: OlsEXAIE X3 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OCHEINESHE o128l 20t A (A1
aH 23,844,000 23,844
CletNssde 224l X2 178,000 256,000 A78,000
= 62,000
& 31,000
Al 85,000
307 212+01 A 178,000 256,000 A78,000
s 62,000
= 31,000
Al 85,000
05 QIZtRES 178,000 256,000 A78,000
OtetNEsde 2gH| XA
124,000,000& 124,000
= 62,000
= 31,000
Al 31,000
OCHESSME 2FHl IR (AEIZ
54,000,000 54,000
CletNssde =328 K& 217,006 176,400 40,606
= 62,182
Al 154,824
307 gI2tol ™ 217,006 176,400 40,606
= 62,182
Al 154,824
05 2I2tRES 217,006 176,400 40,606
OtisgtNEsdH =28 X
207,269,000& 207,269
& 62,182
Al 145,087
OUetHEsMe S50 XIA(AIHIF=
9,737,000& 9,737
Cletl=s8dlH Otsss 2213 K& 28,800 24,000 4,800
= 8,640
Al 20,160
307 212+01 A 28,800 24,000 4,800
& 8,640
Al 20,160
05 QIZtRIES 28,800 24,000 4,800
Otigtssdy otssg =28 K&
28,800,000 28,800
& 8,640
Al 20,160
el = Helo] dsga XA 33,671 0 33,671
= 10,125




SN OlSESD
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 23,546
307 gl2tol & 33,671 0 33,671
=S 10,125
Al 23,546
05 git?(& = 33,671 0 33,671
OYst = 0fRI0] =g
33,671,000& 33,671
< 10,125
Al 23,546
CIENESSHE SAAL S=22+2 42,600 49,500 26,900
= 12,780
Al 29,820
301 EtE NS 42,600 49,500 26,900
=S 12,780
Al 29,820
02 ARI2HHSHS(HAAS, NLHE) 42,600 49,500 26,900
OUEN=SHH SAHA S+22+E
42,600,000 42,600
< 12,780
Al 29,820
CrENESSHE SAEE MM EHI 11,400 9,000 2,400
= 11,400
301 2= 11,400 9,000 2,400
< 11,400
02 A EE AT S (FANE, XLTHE) 11,400 9,000 2,400
OUgHEsdH SAH M<IHEH]
11,400,000& 11,400
== 11,400
Sd8 XNotsdy =t X3 100,800 100,800 0
[ 50,400
= 25,200
Al 25,200
307 elzto| & 100,800 100,800 0
= 50,400
[ 25,200
Al 25,200
10 Al2ISTIAIEEE 22X 100,800 100,800 0
OXSOtsHE S==8E =0t X2
600,000 *90H A 123 64,800
= 32,400
< 16,200
Al 16,200
OXotsHE E22E It X
300,000 100 A% 123 36,000

_4_




SN OISES
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 18,000
=S 9,000
Al 9,000
NS 0tsHE SIHLUSE A X2 144,000 144,000 0
< 28,800
Al 115,200
307 lztol & 144,000 144,000 0
= 28,800
Al 115,200
10 Al SXAAEEHE 22X 144,000 144,000 0
OXNEotsHH SIIHY WsZAL A&
144,000,000 144,000
S 28,800
Al 115,200
KSO0otsSHIE! SALAL &2 st 2,353 4,500 A2, 147
307 212+01& 2,353 4,500 A2, 147
02 LB HANHEE 2,353 4,500 A2, 147
OXISOtSHE SAHAL /I3&
2,353,000 2,353
NSotSHE Ms22HlAL X2 5,000 8,000 23,000
307 elztol & 5,000 8,000 23,000
02 2IZHBYAIHE £ 5,000 8,000 A3,000
OXGOotSHE H===2tlAt X1
5,000,000 5,000
AS0ISHE SALE MHIA X2 21,963 20,822 1,141
< 6,589
Al 15,374
201 =3 21,963 20,822 1.141
& 6,589
Al 15,374
2 52434l 21,963 20,822 1,141
OXNS0tSHE 2L MHIA 0IE=
21,963,000& 21,963
= 6,589
Al 16,374
OtS=XIWAF ItA XI& 1,810 2,660 850
201 et 3| 610 1,220 2610
01 At2t2l] 610 1,220 2610
OOtS=AUAL ZEEIRL S2IH & 24
2 610,000&*1& 610
202 04l 1,200 1,440 A240
01 =LHA LI 1,200 1,440 A240
OX<S0tSHE OtsSAILAL O]
50,0008 x2& * 122 1,200

_5_




SN OlSESD
M Ol01Jt =8t SXAHIA KIS
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SUR0ISSEEL 238 N 304,443 338,270 N33,827
307 elztol & 304,443 338,270 A33,827
10 Al SXAIEEHE 22X 304,443 338,270 N33,827
OBUSOISETENTL 29
304,443,000 304,443
OlsatEga SAL Ex22E XI¥ 10,380 11,400 1,020
s 2,400
Al 7,980
301 22N = 10,380 11,400 1,020
& 2,400
Al 7,980
02 MBI 2HEHSFHS(HAANS, XLHE) 10,380 11,400 1,020
O0tsagh SAML S=22+8 XNIE
10,380,000& 10,380
= 2,400
Al 7,980
SSUEHE gHES 854,067 632,568 221,499
= 349,027
= 261,770
Al 243,270
307 elztol & 854,067 632,568 221,49
= 349,027
= 261,770
Al 243,270
10 Al SXAIEEHE2EHI2x 854,067 632,568 221,499
Ossdatd 188 g2z
854,067,000& 854,067
= 349,027
== 261,770
Al 243,270
SSHEIE Q1A FIHXIZ 173,110 91,84 81,256
= 51,930
Al 121,180
307 el2to| & 173,110 91,8%4 81,256
= 51,930
Al 121,180
10 Al SXAIZEE 22X 173,110 91,84 81,256
OSSdaItE 2dl FIHNAE
173,110,000& 173,110
[ 51,930
Al 121,180
SSHEIE OtSKIR(Z) 100,636 136,910 N36,274
= 33,550
Al 67,086




FA: Ol SES
M Ol01Jt =8t SXAHIA KIS
o OIS=EXIAIE X3 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 100,636 136,910 N36,274
= 33,550
Al 67,086
11 AMEISXAIEEXS 100,636 136,910 N36,274
Ossdatd Ots es2s NE
100,636,000 100,636
=S 33,550
Al 67,086
SSHEIHE ots X2 5,880 12,600 26,720
307 212+01& 5,880 12,600 26,720
11 AMEISXAEEES 5,880 12,600 26,720
O3sdatd ots 2Aaldl XI&
5,880,000 5,880
SSUEINE SML EF2RE 45,360 27,600 17,760
= 10,080
Al 35,280
301 EetE2 N = 45,360 27,600 17,760
=S 10,080
Al 35,280
02 ARSI S2E AT S(FIANS, XLETHE) 45,360 27,600 17,760
OBSMEIE BAX S4224g
45,360,000 45,360
< 10,080
Al 35,280
OLSSXIAIE SAEG M2IHEHI 18,600 128,700 A110,100
= 18,600
301 22N = 18,600 128,700 A110,100
< 18,600
02 A EEHS(FANE, XLTHE) 18,600 128,700 A110,100
OO0tS=XAIE SAHL MSLIHAHI 18,600
—BURAEL SAH MRS
4,200,000 4,200
= 4,200
—SSHEIE SAH M|
14,400,000 14,400
< 14,400
ARl =201 22| 117,600 97,440 20,160
301 Eet2 NS 117,600 97,440 20,160
0 M=SRQEEYS 117,600 97,440 20,160
OMIERRE 243(54H)
7,000 70 *202 * 122 117,600
StfotsESxI=Hl K& 7,000 10,000 23,000
307 glztol & 7,000 10,000 23,000
11 AMEISXAEEES 7,000 10,000 A3,000




SN OlSESY
I 0l0ID} BEF SXIAMHIA B
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CETNEEEIERINE
7,000,000 7,000
XHOISESHEI 2 29 1,211,206 1,155,442 55,764
= 605,603
== 302,801
Al 302,802
307 @I2tol & 1,211,206 1,155,442 55,764
2 605,603
= 302,801
Al 302,802
05 QI2tRIEr2 1,211,206 1,155,442 55,764
OotsEsHEI |2 29
1,211,206,0002 1,211,206
2 605,603
[ 302,801
Al 302,802
XeotsEs d2J12 2(%) 209,428 250,105 A40,677
== 62,828
Al 146,600
307 RI20I A 209,428 250,105 40,677
== 62,828
Al 146,600
05 212t 209,428 250,105 40,677
OOtSESHI |2 2%(%)
209,428,000 209,428
< 62,828
Al 146,600
OlSESXRI|I2 SARH XMAL 18,000 0 18,000
== 18,000
301 YEHE A 18,000 0 18,000
< 18,000
02 ANEI2RESHS(FAHS, L) 18,000 0 18,000
OOtSESTRI|2 BAX MM
18,000,00024 18,000
[ 18,000
OISESNRI|2 BAN S4224Y 43,800 46,200 2,400
= 13,140
Al 30,660
301 YEHZHB 43,800 46,200 2,400
[ 13,140
Al 30,660
R ABIBEHAHZ(HAAS, NLH) 43,800 46,200 2,400
OOISESHLI |2 BAN S4+224Y
43,800,000 43,800




SN OIS2ES3
B2 OM0IJ} #=e SXIMHIA HIB
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 13,140
Al 30,660
SHHIIHOIS HE 2 517,400 49,783 21,612
2 206,958
= 165,221
Al 165,221
307 2I240IH 517,400 49,788 21,612
2 206,958
= 165,221
Al 165,221
05 2I2¢9IErE 258,700 247,89% 10,806
OSICHIIGHOFSEE (010 2|
258,700, 000! 258,700
2 103,479
= 77,611
Al 77,610
VNEEINEEEEETIEES 258,700 247,89% 10,806
OSHHTIHOISEE (20 2%t
258,700, 000! 258,700
2 108,479
= 77,610
Al 77,611
SttHmIHOtSEEIXIA (%) 41,600 52,880 A11,280
= 12,480
Al 29,120
307 BI240IH 41,600 52,880 A11,280
= 12,480
Al 29,120
05 CI2RIErS 20,800 26,440 5,640
OsttHIlolotsS & E (0101 XIJA(Z)
20,800, 0002 20,800
= 6,240
Al 14,560
VNEENNEEEEETIEES 20,800 26,440 5,640
OSIHIIBHOLSEE (Z0F) XIB(S)
20,800, 0002 20,800
= 6,240
A 14,560
SITHTIGHONS &ES 212MH] =X () 12,410 12,410 0
= 3,723
Al 8,667
307 1240/ A 12,410 12,410 0
= 3,723
Al 8,687




FA OtSES
B 0l0ID} e SAMLIA HB
l: OFS=XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 6,205 6,206 0
OSIHTIGHOtSEE (K0F) I24H] FIHXI
6,205,000& 6,205
= 1,862
Al 4,343
10 AlRISXAZEE 22X 6,205 6,205 0
OSITHIIoHOFSEEI (Z0t) Q1248 FIHAIH
6,205,000 6,205
[ 1,861
Al 4,344
SIHLIGHOtSE | SAH XM 6,000 7,200 21,200
= 6,000
301 22N 6,000 7,200 1,200
[ 6,000
02 A2 X 2GS (FHAAHS, NSWE) 6,000 7,200 A1,200
OStHUIGHOtSEH SALAH X< IH&H
6,000,000& 6,000
== 6,000
SIHLIGHOtSEE SAL S=22+E 21,600 24,000 22,400
= 6,480
Al 15,120
301 EetE NS 21,600 24,000 2,400
== 6.480
Al 15,120
02 ARSI E2E AT S(FANS, XLETHE) 21,600 24,000 2,400
OstHLIoHOtSEH AL S+22+¢
21,600,000 21,600
< 6,480
Al 15,120
Ots2s X3 47,192,311 48,911,538 A1,719,227
= 30,259,826
= 324,814
Il 247,871
= 5,852,968
Al 10,506,832
2ES0ts X2 6,480 7,200 AT
301 EtE N = 6,480 7,200 NT20
02 A2 XSG (FHAAHS, NLWE) 6,480 7,200 AT
OJtEelE0ls FEA2S
6,480,000 6,480
2AIPE OF T A& 1,000 1,000 0
= 700
S 45
Al 255
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SN OlSESD
S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 69,340
02 A EEHS(FIANE, XLTHE) 82,600 199,400 116,800
OJlHSIE stsEs Xg
82,600,0002 82,600
== 13,260
Al 69,340
OlSZEXAT MM AEE 2,477,412 2,112,383 365,029
= 1,821,648
== 117,106
Al 538,658
301 2= 2,477,412 2,112,383 365,029
= 1,821,648
= 117,106
Al 538,658
01 Al EE A S(FREXMA) 2,477,412 2,112,383 365,029
Oootseg XAz X3
2,477,412,000& 2,477,412
= 1,821,648
= 117,106
Al 538,658
2SE=0ts NEE A 660,000 714,000 /54,000
= 528,000
= 19,800
Al 112,200
301 LEetE2 N = 660,000 714,000 /54,000
= 528,000
= 19,800
Al 112,200
01 Al EE A2 (2RNEXMR) 660,000 714,000 /54,000
OESEs0ts ME+E K&
660,000,000 660,000
= 528,000
= 19,800
Al 112,200
g0t e 3= 250,000 470,000 /220,000
=S 75,000
Al 175,000
301 Eet2 NS 250,000 470,000 220,000
== 75,000
Al 175,000
02 ARSI 2E AT S(FIAANS, XLETHE) 250,000 470,000 220,000
Elx0ts THEEE=2 250,000,000 250,000
< 75,000
Al 175,000




SN OlSESD
S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ZAI0tS 24 X3 (FHEH0IFEH+YsHE) 7,079,590 8,297,370 1,217,780
= 2,123,877
Al 4,985,713
301 EtE N = 7,079,590 8,297,370 A1,217,780
= 2,123,877
Al 4,955,713
02 A EEHS(FIANE, XLTHE) 7,079,590 8,297,370 1,217,780
ZAIOLS D AIKI B (5 8H0 5 BHY B E)
7,079,590,000& 7,079,590
== 2,123,877
Al 4,985,713
ZAlots 24! NY(E, 2,.35Y) 258,400 459,000 A.200,600
= 258,400
301 LEtE NS 258,400 459,000 200,600
== 258,400
02 ARSI XSG (FHAAHS, NLWE) 258,400 459,000 200,600
OZAISSANR(E, L, 25Y)
258,400,000 258,400
=S 258,400
OlssAXH EAE HEHIXI (RAM/EE) 8,125 6,336 1,789
= 4,277
Al 3,848
308 AXIHSO0IA 8,125 6,336 1,789
=S 4,277
Al 3,848
183 S 2SS B XA AIE 8,125 6,336 1,789
O0ts=4NH ZHS WHEHIXIA
8,125,000& 8,125
< 4,217
Al 3,848
ZAOlE SASAIZEE K& 5,250 8,290 23,040
307 elztol & 5,250 8,290 23,040
11 AMEISXAIEEXS 5,250 8,290 A3,040
OZAOIE SACAZHZE XD
5,250,000& 5,250
OSSN EFAE 17,480 17,080 400
201 et 3| 15,800 15,400 400
01 At2t2l] 15,800 15,400 400
Oots2td ARS| 3o Adg 15,800
— NS OtSHIE AR 1,120,000& 1,120
-S43 1,600,000 1,600
—OrsSsXa2? 2 4,800,000 4,800
—XNE==SE2AH 1,120,000& 1,120
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2A:

S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OISSSAE(RIE) SARIRS
3,360,000& 3,360
—Ols2d ZZ2AY AARIR S
800,000 800
—OISESHSIIBHSIY) AASINS]
100,000 *5& *43] 2,000
—0l - HAW QAR
100,0002x102*13] 1,000
203 =] 1,680 1,680
03 A= PR FA| 1,680 1,680
Olts=A12e gfFd
1,680,000& 1,680
OS2t Al &4 25,710 75,268 A49,558
201 =3 14,710 26,268 11,558
01 At22telt] 9.710 21,268 11,558
OOtsa etz Al 24 =LA 29
100,000 x 18 #2353 3,600
OO0tS& stz Al &d OtSE 2= 29
20,0003 x322H +23] 1,280
O0tsdel 2LHEH 22
360,000 360
Oootsdel 3= 2¢ 400,000 400
O0tsalatzAl 24 2d 1S & 88
4,070,000& 4,070
02 S3=gHl 5,000 5,000 0
ORUANZ OtsESEAl =8 NEHFES
2| H3[H 5,000,000& 12 5,000
307 lztol & 11,000 27,000 16,000
11 AMEISXAEEES 11,000 27,000 16,000
OOt &= Al ZdE fIst #0t= 0l
el s 11,000,000& 11,000
Oeloled ALK 21,000 30,000 29,000
307 el2to| & 21,000 30,000 /9,000
1 AMEISXAIEEXS 21,000 30,000 29,000
OO0lglole &At 21,000,000& 21,000
ors=g 2 34,837,673 34,905,558 67,885
= 27,870,138
= 3,135,390
Al 3,832,145
301 EtE N = 34,837,673 34,905,558 A\67,885
= 27,870,138
= 3,135,390
Al 3,832,145
01 Al EE A ZS(2DEXMR) 34,837,673 34,905,558 67,885
Olts=g 30 34,837,673,000& 34,837,673




od
i’
oF
uJ

i
=)

FSXIAEIA J

2 2 2 S S S 5 5 5
20 2] o) 2] - - -
Kio < < <
E
E=)
g g g = = = g g g
Ye) Ye) Ye) © © ©
LH3r ® ® ® ; - ;
L]
RIS
8g9lc88glc88zc=88z3-238|/3zeglssceslsseslssssly 888
— M — | O O 0N OO 0 IO Ol O© O u © O AN ™M O AN ™M O N MM QO O™ O O™ (ap) O O
mw&&mwm&mwwa&mmwa& —|w @ —|© © © —|l® @ Y |o @ Yl® ® o ~
o — o o [ep N es)
I |y @@
<
b=
W =< =~ H = ~ W= =W = =W = =W = ~ W< W= =~ W= EELEES
] ] ]
g g g
— N~
or 5 3 3
X0 N © ©
=Y & =
: _ I
@ ot o no %9
= = = K1 = ok
It _ K] K] H < g
E3 00 H H o H
. <+ A B o0 o
= o Euo m 30 M or
o0 = — = al g
oy o o < i) ng o o o0
= S O = S5 > B 50
oF o Fox D Fo = Fo=
3 o0 o ar © o0 o gr = = o g O
. ob K 7 U ol pd RO K0 id O
= o Y H o o Y H D o H H S
0 R 5l o o0 R 3l o o0 R zJ =
ot {0 ol A% o all A% 0 Rl A%
o7 o S S = S s = S =
o0 5l o0 [Se] o0 ™
I+ ol ol al

_15_



od
i’
oF
uJ

i
=)

FSXIAEIA J

] S 3 < < < 3 3 3 3 <]
~ r~ ~ S S S ~ .
< N < N aJ oY
. 3 3 3 J J
E
D
S S S 8 8 8 8 8 8 8 8
= = = S S S S S S
< < < S S S < <
LH3r
I<l
RIS
S8 FISSHIS8 88FSSBKKNSSBIRNISSSBSTIRNSSRBISSEBI8E 88888 1|3
SoF|SoF|E JIoFg@ - g|le® - 9le e @@= glgdg ~Iodg =g S d @ = Idy T 0N
— — — — < — | < « — | < « 8 R T o8 T 28 g Q- olN - oV}
al
d
=4
N < ~ < ~ < U= A= ~ U< =< mu =< mu =< mu =<
] ] G|
S S S
S S S
o g : :
— <
Bl &
& ] @ @
m 4 R =
= |= [l o0
z |® iy — iy N = o
N o w % E q = R
= |= = = i - oo ]
5 |5 M g o M g = M o =
7 | 7w Hr TR o T w a
mur 00 TN 00 =r M0 10{ i)
Vi o Rl e no Rr Mo ™ ro R o 0 o
. | ) KO ! il R0 1o b Ko <0 > )
= |@ T o o i o o i o O ir I
o I 1) o o0 = 1) ol o0 =) 1) i o0 o 1)
KO o all =< ol o Rl < ol 20 all =z ol %0 all
o . - 0O = - - O = — - O = =
R & < 0 S < 0 S < 50 &
IF |a ol ol ol

_16_



FA OtSES
S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,540
=S N9
Al 561
01 ABIZERSHZ(2 D2 T 2,200 4,400 22,200
OYYIIHIEOLS Al2IXI2l XIS
2,200,000 2,200
= 1,540
S N9
Al 561
LAY AGIHE delxlg K& 4,600 9,200 4,600
[ 1,380
Al 3,220
301 LELEN S 4,600 9,200 24,600
= 1,380
Al 3,220
02 A2 A LGS (FHAAHS, NWE) 4,600 9,200 4,600
LLINH SIS aellz X3
4,600,000& 4,600
= 1,380
Al 3,220
20l getEtls A 14,400 18,700 24,300
301 22N = 14,400 18,700 4,300
02 A 2E AT S(FIANS, XLETHE) 14,400 18,700 24,300
Ogeols est=dla X2
14,400,000 14,400
FHoHE OlsSEAMHIA KR (EZAEE MAFX) 334,075 405,210 AT71,135
= 264,790
[ 19,859
Al 49,426
101 @124H| 84,017 100,802 16,785
s 56,918
== 4,269
Al 22,830
M ORNZZ2NSE S 84,017 100,802 216,785
OOtSSSAtIZ2IAF JI12HHI el 21|
58,960,000 58,960
= 47,168
=S 3,538
Al 8,254
OOt SEAtI22IAL J12EHI 24l (AlBI S
ot) 12,870,000& 12,870
OOtsSEAtdIZ2eIA JI2HH B =
7,359,000 7,359
[ 5,887




SN OlSESD
S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 442
Al 1,030
OCRIAEIEAQEA S0l 01t
3,640,000& 3,640
= 2,912
== 218
Al 510
OOtsSE At Z2IAL JI2HMl 24|
1,188,000& 1,188
[ 951
= il
Al 166
201 er2 3| 64,876 144,334 AT9,458
[ 55,814
= 4,186
Al 4,876
01 At2teltl 10,990 18,590 AT,600
OLEEAEE 23 24 2,690,000& 2,690
= 2,182
< 161
Al 377
OE22 HX L OIECA - 17 72
7,000,000& 7,000
= 5,600
& 420
Al 980
Og2a & #HHA =&
1,300,000 1,300
[ 1,040
= 78
Al 182
02 S3=gl 3,840 5,744 1,804
Os&sk= € MA 800,000 800
[ 640
= 48
Al 12
OAIE2 &= X 160,000 160
[ 128
= 10
Al 2
OXt& =Xl 720,000 720
[ 576
== 43
Al 101




SN OlSESD
S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAZRIN 228 BUE N8R
2,160,000& 2,160
= 1,728
< 130
Al 302
03 ALY 50,046 120,000 69,954
OCEAEE T2 29
50,046,000 50,046
= 43,950
& 3,2%
Al 2,800
301 EtE N = 63,407 160,074 A96,667
= 54,638
< 4,099
Al 4,670
01 A2 HSFS(RNEERTHE) 60,047 185,274 N95,227
CEHAHE Ot &5 Abl& X2
60,047,000& 60,047
= 51,950
< 3,897
Al 4,200
11 dALEBIXIZE S 3,360 4,800 1,440
OEEAEE AR 3,360,000& 3,360
= 2,688
== 202
Al 470
307 elzto| & 121,775 0 121,775
= 97,420
< 7,305
Al 17,050
11 AMEISXIAEEES 121,775 0 121,775
Og= - 8& MHIA HIS XE
121,775,000 121,775
= 97,420
[ 7,305
Al 17,050
FHANESOtSSE MBI AXIZ (OIS SE At Zt2IAL XI¥) 10,700 8,900 1,800
= 8,560
< 642
Al 1,498
201 Ler23 | 2,700 2,000 700
= 2,160
=S 162
Al 378
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SN OlEESD
2 01010t =8t SAIMEIA HS
=t OrEEsXE (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 AtR2telt] 2,700 2,000 700
OO0tsSEE A2 Z2IAL S22 ZAH|
2,700,000& 2,700
= 2,160
= 162
Al 378
202 0idl 8,000 6,900 1,100
= 6,400
= 480
Al 1,120
01 =WHO4LI 8,000 6,900 1,100
OOISESABRIAL 222 01|
8,000,000& 8,000
= 6,400
= 480
Al 1,120
=23 12,480 13,848 1,368
201 LB-2AY| 12,480 13,848 1,368
01 AtR2telt] 4,800 6,000 A1,200
O0t=siiidg=R3 =4l
4,608,000& 4,608
Oot=sstll &l 29 &l
192,000& 192
02 B22gH| 7,680 7,848 A168
OO0t=&tll 8& U8 8EXE |
3,360,000& 3,360
OOlSS NS RRE ALEXE EUIE Al
2= 4,320,000& 4,320
OIsESHERI K& 74,334 57,1% 17,139
= 51,464
& 1,931
Al 20,939
101 2124 d| 45,184 18,315 26,869
= 27,464
& 1,031
Al 16,689
M IIRINZ2Z2XsSEs 45,184 18,315 26,869
OOlSEsdE22 JIZ2HM o]
28,908,000& 28,908
s 23,126
= 868
Al 4,914
OOlsSESHERA JIZ2tM o124H] (AlHIF
Jh) 9,229,000& 9,229




SN OlSESD
S Ol01JH =8t SXAHIA KIS
el Ol s2EaXE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOIS2sNS R JI2H 2ae
5,422,000& 5,422
= 4,338
< 163
Al 921
OOlS2SHLRR JI2H 22 (AlLIF}
) 1,625,000 1,625
201 fer= 3| 7,289 10,240 A2,951
[ 6,048
= 228
Al 1,013
01 At2teltl 5,189 7,432 N2,243
O0ts2s 2 24| 5,189,000& 5,189
= 4,320
& 162
Al 707
2 s5=34l 2,100 2,808 AT708
OOtSEsdgRAE dRFUE SUHE MS
L= 35,0008 +50H+ 122 2,100
[ 1,728
= 66
Al 306
202 04dl 6,880 10,380 A3,500
[ 5,504
= 206
Al 1,170
01 =LHAHI 6,880 10,380 A3,500
OolEEsELYR o]
6,880,000& 6,880
[ 5,504
= 206
Al 1,170
301 LEtE N = 14,981 18,260 N3,279
[ 12,448
= 466
Al 2,067
01 AR E2EHSFS(RRNEERTHE) 12,821 16,100 A3,279
250t AHIA X3
12,821,000& 12,821
= 10,720
< 401
Al 1,700
11 dALEBIXNIE S 2,160 2,160 0
OdERA A 2,160,000& 2,160
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SN OlEESD
2 01010t =8t SAIMEIA HS
=t OrEEsXE (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
iy 1,728
T 65
Al 367
SEMEIA J|8r2 St 2,046,424 2,163,309 A 116,885
= 107,872
Al 1,938,552
SHAZOISEANJAHEH 29 1,809,498 1,916,064 106,566
307 212+01 A 1,809,498 1,916,064 106,566
05 QIZtRIELZ 1,809,498 1,916,064 A 106,566
OR&ANSOISEXAHEH 29|
1,809,497,360& 1,809,498
ANZSOISE XM (FEANY) 34,000 34,000 0
T 17,000
Al 17,000
307 2I2+0l™ 34,000 34,000 0
= 17,000
Al 17,000
05 012t ErE 34,000 34,000 0
OFR2us SSAMY 34,000,000 34,000
T 17,000
Al 17,000
SSAMElA K& 26,059 39,925 13,866
201 LBt2AY| 10,414 18,880 8,466
01 AR2teld| 10,414 18,880 8,466
OEsFMAA =Y 2,880,000& 2,880
O==8T &8& &o2d =%
6,750,000& 6,750
OEFEE WX ¥ NI}t 2
784,000& 784
203 YR F=&IH| 3,045 3,045
03 A FAIHRFAIH| 3,045 3,045
OB=SAtE g2FA 3,045,000& 3,045
307 2I2+01™ 12,600 18,000 A5,400
04 QIZHSHAAIZS E X 12,600 18,000 A5,400
O0elo|dHetal A XI&
12,600,000 12,600
AINEE BFAHLHE olAd| K& 73,492 72,630 862
& 37,177
Al 36,315
307 212+01™ 73,492 72,630 862
& 37,177
Al 36,315
05 QIZIRIErZ 73,492 72,630 862




SN OlSESD
& OtolJt =gt IMBIA MBS
Eelr EFAHIA D[RS EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
0Z)I=8 SRALEE 02| X
73,492,000& 73,492
= 37,177
Al 36,315
A2 SOIEEXIZHE SO0IXITAL BHXI(HEAY) 48,588 45,660 2,928
== 25,758
Al 22,830
307 212+01& 48,588 45,660 2,928
< 25,758
Al 22,830
05 2ItRIE =2 48,588 45,660 2,928
OAlz FO0ISSAAHE =0IXISAF HHXI
48,588,000& 48,588
= 25,758
Al 22,830
AT SOISEANAME 702N ASER IR 54,787 53,700 1,087
s 27,937
Al 26,850
307 212+01& 54,787 53,700 1,087
& 27,937
Al 26,850
05 2IZtAE = 54,787 53,700 1,087
OAlZ SOISSXIJNE SF0tEEXIA2
& BiXI 54,787,000 54,787
= 27,937
Al 26,850
Oel0lE JIsSEZAE 370,240 178,000 192,240
[ 160,000
= 90,000
Al 120,240
=38 0oy &= 340,000 160,000 180,000
= 160,000
< 80,000
Al 100,000
401 Al HIZL 01| 300,000 125,000 175,000
= 150,000
== 75,000
Al 75,000
01 Al&H| 300,000 125,000 175,000
O(OH) B AHIOIEAAIHOZIOIE 222
S AH 150,000,000 150,000
= 75,000
== 37,500
Al 37,500
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SN OlSESD
M Ol01Jt =8t SXIAHIA MS
S 0IRI0IE JISEUA (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO ABAESIYEIR0RI01E 2l 2L
S Al 150,000, 0002 150,000
= 75,000
[ 37,500
Al 37,500
402 2I2F X201 & 40,000 35,000 5,000
= 10,000
[ 5,000
Al 25,000
03 2IZHRAETAIHHI 40,000 35,000 5,000
OOE)EAHIOIEAMANI0IE JI X
&l 10,000,000& 10,000
= 5,000
< 2,500
Al 2,500
OOtE)EAHIOIEAAMANI0IE I X
THI(AIHIZED 20,000,000& 20,000
OOt ) ASL S LEH2012I01E I
T4 10,000,000 10,000
[ 5,000
= 2,500
Al 2,500
=38 0e0lId X2+ 12,600 18,000 A5,400
307 @120l & 12,600 18,000 A5,400
1 AMISXAIEEXS 12,600 18,000 A5,400
O=SE0e0ld FANE=+
12,600,000& 12,600
SN0 SSAH(ZH]) 17,000 0 17,000
= 10,000
Al 7,000
402 2I2F X201 & 17,000 0 17,000
= 10,000
Al 7,000
02 QI X2 AL E R (01X THE) 17,000 0 17,000
O=Z=E0e0ld &l Jfa o= X3
17,000,000 17,000
s 10,000
Al 7,000
SOISEXNJHEH 2 640 0 640
402 QI2F X201 & 640 0 640
03 2IZHRAEAIHHI 640 0 640
OJtAggn NBEX £X
640,000 640
oielold A& 3,478,179 1,968,465 1,509,714
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SN OlSESD
M Ol01Jt =8t SXAHIA KIS
Eelr ooy K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 275,698
=S 1,949,360
Al 1,253,121
ooy & SH=IH X3 133,268 140,000 N6,732
307 21201 & 133,268 140,000 N6,732
11 ARRISXAIEE X 133,268 140,000 N6,732
OO0leloly 8 SR Jrddl X2
133,268,000 133,268
ol2lold SJ18&0| K& 47,39% 47,058 337
= 14,454
Al 32,941
307 el2tol & 47,3% 47,058 337
= 14,454
Al 32,941
10 AlISXAEEE 22X 47,39% 47,058 337
oogold SJ183J] X
47,395,000 47,39%
< 14,454
Al 32,941
ooy zlstas X3 586,200 601,600 A15,400
307 lztol & 586,200 601,600 215,400
11 AMEISXAEEES 586,200 601,600 15,400
Ooeloly zatza X3
586,200,000 586,200
A SE EFAHAY 467,661 375,000 92,661
= 249,134
= 124,567
Al 93,960
301 EtE N = 35,780 25,920 9,860
= 20,100
& 10,050
Al 5,630
01 A2 HSHS(RNEERTH) 35,780 25,920 9,860
OAMZHES MSI12 WA=
35,780,000& 35,780
= 20,100
< 10,050
Al 5,630
307 elztol & 431,881 349,080 82,801
= 229,034
< 114,517
Al 88,330
10 AlRISTIAIEEE 22X 431,881 349,080 82,801
OARZIAISE 258 81,510,000 81,510
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SN OlSESD
M Ol01Jt =8t SXAHIA KIS
Eelr ooy K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 42,000
=S 21,000
Al 18,510
OAIISEES M3J12 K&
350,371,000 360,371
= 187,034
s 93,517
Al 69,820
gor HE=E=s0E 208 X 47,347 93,300 N45,953
& 9,469
Al 37,878
307 elztol & 47,347 93,300 N45,953
= 9,469
Al 37,878
10 Al SXAAEEHE 22X 47,347 93,300 A\45,953
OO0 EXEESVY T2 X
47,347,000 47,347
=S 9,469
Al 37,878
ORISHEE 02l0ld 2g8XE 91,653 97,200 ADb, 547
< 21,093
Al 70,560
307 glztol & 91,653 97,200 Ab, 547
= 21,093
Al 70,560
10 Al SXAEEHE2EHI2x 91,653 97,200 Nb,547
O0RHAEE oelold 28N
91,653,000 91,653
=S 21,093
Al 70,560
FXNG Oeloly M2 A 14,160 14,400 A240
307 212+01& 14,160 14,400 A240
10 AlRIS XA EEE 22X 14,160 14,400 A240
OF AN 001 E (HE) Xt 23
2,160,000 2,160
OFAXNAN0IE(UHE) XHZIIAL 14|
1,000,0002 x1&* 122 12,000
Oglold 2SXd (M2l X&) 7,086 7,200 A114
= 2,812
= 1,312
Al 2,962
307 el2to| & 7,086 7,200 A4
= 2,812
= 1,312

8




SN OlSESD
M Ol01Jt =8t SXAHIA KIS
Eelr ooy K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,962
10 Al SXAZEE 22X 7,086 7,200 A114
OOIRI0IT YA (XHB2FH| X
4,686,000 4,686
= 2,812
= 1,312
Al 562
O0gloly 2SN (X&2aHl X&) (Al
1) 2,400,000& 2,400
Helold 2SR (=) 39,587 38,000 1,587
= 23,752
s 11,085
Al 4,750
307 @I2t01 & 39,587 38,000 1,587
= 23,752
= 11,085
Al 4,750
10 MEISXAIEHE2EHIE2X 39,587 38,000 1,587
OOf2lolE 2SN (nMn-l)
39,587,000& 39,587
= 23,752
= 11,085
Al 4,750
ool =28 A 58,496 62,871 A4,375
307 21201 & 58,496 62,871 A4,375
10 Al2ISTIAEEE2HIEX 58,49%6 62,871 AN4,375
O0gold MI| & IJtA HEEY 32 38,246
—&01EE 65,0103 4350 A+12] 28,280
—ItAEH 33,2202 30000 A+ 13 9,966
OO0RI0IE & - LHUH(ERXIH) 20,250
—&d& 509 olaf 9,450,000& 9,450
—&& 492! olat 10,800,000 10,800
Of2I0IE 2N (SAlHl & 244I) 248,000 402,79% N 154,796
= 74,400
Al 173,600
307 el2tol & 248,000 402,79%6 A154,7%6
= 74,400
Al 173,600
10 AlISAAZEE 22X 248,000 402,79%6 A154,7%
Oo0l2lold 2gXA(S4Hl & 244)
248,000,000 248,000
== 74,400
Al 173,600
AR ER2E 22| 10,080 6.720 3,360
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SN OlEESD
M Ol01Jt =8t SXAHIA KIS
Eelr ooy K& (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 10,080 6.720 3,360
10 AR =224 10,080 6,720 3,360
OABI=228 BAZ(SAH)
7,0003x6Hx20&* 123 10,080
3052 AIZLHIESAIE X1 99,866 82,320 17,546
=S 65,600
Al 34,266
307 21201 & 99,866 82,320 17,546
< 65,600
Al 34,266
11 AMEISXAEEES 99,866 82,320 17,546
O3ce AIZEHIES MBI12 WAt
6,480,000 6,480
= 3,240
Al 3,240
03652 AIZHHMES MSI12 K&
93,386,000 93,386
== 62,360
Al 31,026
HENSE H201E =44 K& 933,780 0 933,780
S 933,780
307 @I2to1 & 933,780 0 933,780
== 933,780
10 Al SXAAIEEHE 22X 933,780 0 933,780
OdEWEE 0elold S48l A&
2,690 x2032 1,710 933,780
= 933,780
Fel iy 5M1 =IO 693,600 0 693,600
= 693,600
307 212+01& 693,600 0 693,600
[ 693,600
10 AlISXAZEHE 22X 693,600 0 693,600
OFcltd bMl =I0tNI&
693,600,000 693,600
== 693,600
02ols W& K& 27,151,782 25,002,574 2,059,208
= 14,629,263
= 7,530,953
Al 4,991,566
Oi2l01d ThAMels Qlzdb] 12,550 17,050 24,500
= 2,510
Al 10,040
307 el2to| & 12,550 17,050 24,500
S 2,510
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FA OtSES
B 0l0I0} e SAMLIA HIB
Rl oElold WA XA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,040
10 Al SXAZEE 22X 12,550 17,050 24,500
OOGIglold Uixels ol2t|
12,550,000& 12,550
== 2,510
Al 10,040
Oi2l01E M wAF 1248 X1 1,303,990 1,297,000 6,990
= 782,966
== 365,384
Al 155,640
307 212+01& 1,303,990 1,297,000 6,990
= 782,966
= 365,384
Al 155,640
10 Al SXAIZEE2EHIEx 1,303,990 1,297,000 6,990
OOZ0IE HAMAL 1 24H]
1,303,990,000& 1,303,990
= 782,966
= 365,384
Al 155,640
SAA 1A X2 (HotEE 8) 3,077,571 3,033,824 43,747
= 1,846,542
= 861,721
Al 369,308
307 @I2t01 & 3,077,571 3,033,824 43,747
= 1,846,542
= 861,721
Al 369,308
10 Al SXAAEEHE2EHI2x 3,077,571 3,033,824 43,747
OBz IAH|(F0ME 8)
3,077,571,000& 3,077,571
= 1,846,542
= 861,721
Al 369,308
0201y 22X & 25,632 62,520 36,888
307 gl2to| & 25,632 62,520 136,888
10 AlISXAZEE 22X 25,632 62,520 A36,888
OO0RIHAESI0IE EXWAF Q12|
1,068,000 x2&» 122 25,632
SR olAH| X2 (238yel) 15,781,478 16,256,117 525,361
= 9,427,482
=S 4,399,492
Al 1,954,504
307 21201 & 15,781,478 16,256,117 525,361




SN OlSESD
M Ol01Jt =8t SXIAHIA KIS
Rl oElold WA XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 9,427,482
=S 4,399,492
Al 1,954,504
10 Al SXAEEE 22X 16,781,478 16,256,117 525,361
EENEEIIETIEEEETI)
15,639,951,000& 16,639,951
= 9,427,482
= 4,399,492
Al 1,812,977
OO0 T2 MES
206,910 57 F 128 141,527
S0 HRIME X (DAI2LEZHLH]) 1,271,460 900,000 371,460
= 762,875
< 366,009
Al 152,576
301 2P EN= 1,271,460 900,000 371,460
= 762,875
=S 366,009
Al 152,576
01 Al EE AL S(FRDEXHA) 1,271,460 900,000 371,460
ORANZREANAE| X2
1,271,460,000& 1,271,460
= 762,875
=S 366,009
Al 152,576
SR HRHME X2A(LAZE 2E) 5,510 3,300 2,210
= 3,327
= 1,553
Al 630
301 EetE NS 5,510 3,300 2,210
= 3,327
= 1,553
Al 630
01 Al EE A S (2 REXMR) 5,510 3,300 2,210
OuAEA & K& 5,510,000& 5,510
= 3,327
= 1,553
Al 630
Oelold A XMIH&Hl NI& 1,263,126 1,199,270 63,85
S 278,044
Al 985,082
301 EetE NS 1,263,126 1,199,270 63,856
== 278,044
Al 985,082




SN OlSESD
M Ol01Jt =8t SXIAHIA KIS
Rl oElold WA XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 1,263,126 1,199,270 63,856
O0el0ld WA XMIH&Hl X
1,263, 126,000& 1,263,126
= 278,044
Al 985,082
EFWA M2MEHl =0 XA 647,767 615,940 31,827
== 329,417
Al 318,350
301 22N = 647,767 615,940 31,827
< 329,417
Al 318,350
02 MBI 2HHSFHS(HAANS, XLHE) 647,767 615,940 31,827
OESUWAL MSMEHl =t K&
647,767 ,000& 647,767
= 329,417
Al 318,350
SOtEtWAL S S22 A& 288,738 241,000 47,738
== 62,379
Al 226,359
301 22N 288,738 241,000 47,738
[ 62,379
Al 226,359
02 MBI 2EHSFHS(HAANS, XLHE) 288,738 241,000 47,738
OYOI DA S S+224Y X
288,738,000& 288,738
= 62,379
Al 226,359
0lgl0lE EsudE =EX& 348,000 359,400 211,400
301 EtE NS 348,000 359,400 211,400
02 ANRI2HHSFS(HAAS, NLHE) 348,000 359,400 A 11,400
O0Z0IE BRDNA AB224
50,0002 x580 122 348,000
ZOHOtE = Ofelold XI& 70,296 54,296 16,000
= 12,000
Al 58,296
307 elzto| & 70,296 54,296 16,000
= 12,000
Al 58,296
10 AlISXAZEHE 22X 70,296 54,296 16,000
OZOHOIEE HEI0lE AHI(2EIIAL
32,400,000& 32,400
== 7,200
Al 25,200
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SN OlSESD
M Ol01Jt =8t SXIAHIA KIS
Rl oElold WA XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZOHOLE S OEl0IE IAHI(2&IIA (Al
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= 839,280
Al 338,350
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M F2HO arze
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=Z8 D200 LUBHIAAL &
Sl 1,056,0002 1,056
® 22| 213,600 0 213,600
O AHIOIE 22Ib| 210,000,000 210,000
OSAHOIE NERYURLS
2,400,000 2,400
O23Y DL=0RI01E 22yl
1,200,000 1,200
HH2IA(OtSE] ) 1,729,232 1,739,949 A10,717
2 670,829
[ 217,495
Al 840,908
EEET] 1,663,209 1,647,230 15,977
z 670,829
[ 217,495
Al 774,885
OlS=X WAL THA 1,206,811 1,205,811 0
2 405,489
[ 202,744
Al 507,578
101 Q144 1,028,838 1,028,838 0
2 342,760
s 171,380
Al 514,698
03 Z2E(2I|H ) 2224 1,028,838 1,028,838 0
OXI2OtSHIE! OFSSXILAL Q124
685,520,000 685,520
2 342,760
< 171,380
Al 171,380
OXNSOSHIE OFS=RI WAL QIAHI(AlHIE
oh 343,318,00024 343,318
3 BRgas 176,973 176,973 0
2 62,729
[ 31,364
Al 82,880
M BRE(LIIHL)2EN PEHILLS S 176,973 176,973 0
OXNSO0SHIE OISEX LA ABIEEE &
gl=2 125,457,002 125,457
2 62,729
[ 31,364
Al 31,364
OXNSO0ISHIE OISEXLA ABIEEE &
SEE=IINTEEST) 51,516,0002 51,516
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,000&

SRR

=

35,480
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2,129
4,967

30,173
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SRR

=
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137,320
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95,438

246,492

8,585

101 e124d|

SARNEY

=

204,749
118,887
4,458
81,404

207,700

A2,951

144,231,000

OOISESHERY S22 AL (AIHIFIL
60,518,000
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144,231
118,887
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20,886
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207,700

A2,951
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SN OISEST
M HARAZH|(OtSESDH)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 18,433
=S 691
Al 14,034
04 SRA(RIH )22 BEE2RYS S 33,158 38,792 Ab,634
ONIER5HL QY 22X P2 U &%
HE= 23,042,000 23,042
= 18,433
= 691
Al 3,918
O0tSESHERY 324 288 E &H
Y 2(AIBIFI) 10,116,000& 10,116
=3l 66,023 R, 717 N26,694
Jl=23H] 66,023 R, 717 N26,694
201 er23| 33,239 32,375 864
01 At2teltl 31,104 30,240 864
ORAMNEgII123H| 31,104
—2et=SHl 40,0002 362 *122+0.8 13,824
—=4l 50,0002 36 12&+0.8 17,280
2 35284l 2,135 2,135 0
OR8ER= 2,135
—aped 430239021+ 123 465
—SJIfH 2,530 %6521+ 122 1,670
202 04| 25,920 53,430 A27,510
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ORNEgE =AY
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